PHY2216: Tutorial Questions 1

DENSITY & RELATIVE DENSITY

1.
A solid weighs 4.8g in air, 2.8g in water and 3.2g in kerosene. Calculate the ration of the density of the solid to that of the kerosene.


[Answer: 3:1]

2.
40m3 of liquid P is mixed with 60m3 of another liquid Q. If the density of P and Q are 1.00kgm–3 and 1.60kgm–3 respectively, what is the density of the mixture?


[Answer: 1.36kgm–3]

3.
An empty relative density bottle has a mass of 20.0g. When it is filled with petrol, its mass is 55.0g. Calculate the mass of the bottle when it is filled with water.


(Relative density of petrol = 0.7)


[Answer: 70g]

4.
A block of material of volume 20cm3 and density 2.5gcm–3 is suspended from a spring balance with half the volume of the block immersed in water. What is the reading of the spring balance? (Density of water = 1.0gcm–3).


[Answer: 40g]

5.
A piece of cork density 0.25 x 103kgm–3 floats in a liquid of density 1.25 x 103kgm–3. What fraction of the volume of the cork will be immersed?


[Answer: 1/5]

6.
A hydrometer of mass 3.60kg and volume 6.00 x 10–5m3 floats in a liquid with 1/5 of its volume above the liquid. Calculate the density of the liquid.


[Answer: 7.5 x 104kgm–3]

